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3-35. The 30-kg pipe is supported at A by a system of five cords. #3-37. The cord AB of length 5 ft is attached to the end B of a
Determine the force in cach cord for equilibrium. spring having a stiffness k = 10 Ib/ft and an unstretched length of
5 fit. The other end of the spring is attached to a roller C so that the
spring remains horizontal as it stretches. If a 10-Ib weight is sus-
pended from B, determine the angle 8 of cord AB for equilibrium.

3-38. The cord AB has a length of 5 ft and is attached to the end
B of the spring having a stiffness k = 10 Ib/ft. The other end of the
spring is attached to a roller C 5o that the spring remains horizontal
as it stretches. If a 10-1b weight is suspended from B, determine the
necessary unstretched length of the spring, so that 6 = 40° for
equilibrium.

Prob. 3-35 i k=101b/ft

“3_36. The ring of negligible size is subjected to a vertical force Probs. 3-37/3-38
0f 200 Ib. Determine the required length  of cord AC such that the
tension acting in AC is 160 Ib. Also, what is the force in cord AB?
Hint: Use the equilibrium condition to determine the required  3-39. The pail and its contents have a mass of 60 kg. If the cable
angle 6 for attachment, then determine / using trigonometry ap- s 15 m long, determine the elevation y of the pulley for equilib-
plied to triangle ABC. rium. Neglect the size of the pulley at A.

Prob. 3-36




